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1. AR A A o] 1 =) 12,000 12,000
1.HHAg o]l 12,000 12,000
17124 AN A A = 12,000 12,000
ol otu N 2T (7] %) 12,000 12,000
Aol AT 421,517 397,013
SR EHIAANF T 421,517 397,013
1. ASH EY 3] A = 421,517| 397,013
G AT 194,878| 194,878
25ERATA QY] o+ 13
SAAH A AT 189,022| 165,465 FeEwad f 155,181,008 = 132 5,181,000
(BREH_2F) A7 2 Al S 8,126, 000
8,126,0009 = 1aL =
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:650,0009 * 13 =
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ARG EH A LT 1,050 1,050
SrE AN A A 1,320 1,320
3,000 0
FA RS R 3,000 0
St s Al A Y=+ 3,000 0
I (A REH_25F)gar g Ad A
estus A A2 3,000 0 - 3,000,000
e AU 3,000,0009%17 =
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1. 85249 13,166 13,166 0
1.4 AR5k 4= 13,166 13,166 0
1,549 13,166 13,166 0
1.9 13,166 13,166 0
2. PR LE59 1,300 1,300 0
1.71E A g5+ 1,300 1,300 0
1.0]214=9] 1,300 1,300 0
1017 1,300 1,300 0
3. 71849 13,357 13,357 0
1. AdZo| g 13,357 13,357 0
1eAASF 13,357 13,357 0
LaeAAYd ST 13,357 13,357 0
1.EAAIY A= 13,357 13,357 0
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